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Question 3
In apopulation, the probability that a person has biue eyes is 07.

() One person is chosen at random from the population.
Whatis the probabilty that this person does not have blue eyes?

{b) Two people are chosen at random.
Whatis the probabillty that both have blue eyes?

(9 Three people are chosen at random.
What s the probabilty that exactly two of them have blue eyes?
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(d)  Four people are chosen at random, one after another.
Whatis the probability that the fourth person of the four chosenis the only one to have blue
eyes?
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Question 2 (25 marks)
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(b)  Kevin takes fwo penalties. What is the probability that he scores both?

(©) Kevin takes three penalties. What is the probability that he scores exactly fwice?

(@ Kevin takes five penalties. What s the probabiliy that he scores for the firstfime on his fifth
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Question 1 (25 marks)

‘According to the Central Statistics Office (CSO) there were 65909 babies born in reland in 2015
Of these 32290 were girs.

{a) (i) How many boys were born n Ireland in 2015

probabiity that a baby picked at random from those born n Ireland in 2015
Give your answer correct to 2 decimal places.

() Eight babies were born in Limerick's Maternity Hospital on 1 May 2015.

were boys. Give your answer correct to 4 decimal places.

() The table below shows the probabilty of being born on a particular day of the week

In3 particular week 1300 babies were born.
Find the number of babies expected to be born on the Tuesday of that week |
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